
Geometric Optics:
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Interference:
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Double Slit Experiment
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Single Slit Diffraction

sin θdark = m
λ

a
m = 0, 1, 2, . . .

Diffraction Grating
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Quantum Physics:

Blackbody

P = σAT 4

λmaxT = 2.898× 10−3m ·K

Photoelectric Effect
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Uncertainty Principle
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Trigonometry:

θ � 1rad.→ tan θ ≈ sin θ ≈ θ

Sine Values

sin 5◦ = 0.087

sin 10◦ = 0.174

sin 15◦ = 0.259

sin 20◦ = 0.342

sin 25◦ = 0.423

sin 30◦ = 0.500

sin 35◦ = 0.574

sin 40◦ = 0.643

sin 45◦ = 0.707

sin 50◦ = 0.766

sin 55◦ = 0.819

sin 60◦ = 0.866

sin 65◦ = 0.906

sin 70◦ = 0.940

sin 75◦ = 0.966

sin 80◦ = 0.984

sin 85◦ = 0.996

Cosine Values

sin2 θ + cos2 θ = 1


